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QUESTION 1

Which node is used to read data from a comma delimited text file?
A. Var. File

B. Data Collection

C. Fixed File

D. Statistics File

Correct Answer: A

QUESTION 2

Which of the following types of nodes will have data flowing both in and out, when used in a stream?
A. Record Ops

B. Graphs

C. Export

D. Sources

Correct Answer: A

QUESTION 3

Which method would be used on the Merge node in order to combine a file containing 100 products and a file containing
50 suppliers and retain only the matching records?

A. Inner join

B. Anti-join

C. Full outer join
D. Partial outer join

Correct Answer: A

QUESTION 4

What new value will be assigned to the original value Low given the specifications in the Reclassify node below?

C2090-012 VCE Dumps | C2090-012 Practice Test | C2090-012 Study Guide 2/4


https://www.leads4pass.com/c2090-012.html
https://www.leads4pass.com/c2090-012.html
https://www.leads4pass.com/c2090-012.html

https://lwww.leads4pass.com/c2090-012.html

Lead S4Pass 202 aes leads4pass C2090-012 PDF and VCE dumps Download

.|

® Y[l

Moda & Single O Multiple
Reclassifyinto. @ New Beld () Exsting Reld

Mo Income m

Forunspecfied values use. & Onginal value O Default vaiue

A -1

.

B.2
C.3
D.4

Correct Answer: B

QUESTION 5

Which node should be used if the user wanted to see the number of cases in each category for a variable of Categorical
Measurement level?
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cr A

Distribution

Histogram

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A
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